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Section 12.2 Objective: Tangent and Chord Theorems Notes

Theorem:
s [If two chords intersect inside a circle, then the measure of each angle formed is the average of the
measures of the arcs intercepted by the angle and its vertical angle.
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Another way 4 remember:
1y You have an angk Gnd an arc and
heed b find the other arc ‘
Molhgly angle by 2 = bigarc+ \#e are
2(angl) = bigare + little arc
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Inscribed Polygon: A polygon whose vertices all lie on a circle.

d Inscribed
Tria ngle Quadrilateral
Theorems:

o Ifa triangle inscribed in a circle is a right triangle, then the hypotenuse is a diameter of the circle.
o If AABC 15 a nght triangle with hypotenuse AB, then AB is a diameter of the circle. A

o Ifaside of a triangle mnscribed 1n a circle is a diameter of the circle, then the triangle 1s a
right triangle.
o If 4B is a diameter of the circle, then A4BC is a right triangle with AB as
B

hypotenuse.

Examples: Find the values of x and v mn ©P.
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{x=99" |

Theorem:
e Ifa quadrilateral can be inscribed in a circle, then its opposite angles are supplementary.
E F =
msD +msF =180°
O msE +mZG =180°

Examples: Find the values of x and .
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Find the measure of the arc or angle indicated.
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zx = %9
2(4x)= Yz
2(49) =98
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SO x4 98+(5:=360
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Theorems about Tangenis:
s Ifaline is tangent to a circle, then it is perpendicular to the radius drawn at the point of tangency.

Ifline / is tangent to @ C at B. then/ | CB.
B

s Inaplane, if a line is perpendicular to a radius of a circle at its endpoint on the /

circle, then the line is tangent to the circle.

1f/ L CB. then line/ is tangent to ©C at B.

Examples: Find the length of the missing segment. Assume that segments which appear to be tangent to the
circle are tangent to the circle.

|Qq'.‘, “:-.-, C," radivs = %.4

400: W ?oknusg l\-)?o’re:wsu?.'-lﬁ;t.

il ?\ tenose 12 +3.4 = (3445.0)
ob = hype ¢ +%.4 = (14)

20 = ‘13?0“‘6'\"& . .
2°= lQ‘_? th ‘L" -%-4

20-1.= 2 X*= 125.44%
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Examples: Determine whether AB is tangent to the circle. Explain your reasoning.

2) b) #.
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